Mathematics

Identifying suitable bar models to represent
word problems

Miss Mitchell
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There are 62 green ducks.

There are 34 more yellow

ducks. How many yellow
ducks are there?

There are 62 green ducks.
There are 34 fewer yellow
ducks. How many yellow
ducks are there?

There are 62 green ducks.

There are 34 yellow ducks.

How many more green
ducks are there than
yellow ducks?

There are 62 green ducks.

There are 34 yellow ducks.

How many ducks
altogether?

Once you have
Mmatched the
bar models to
the word
problems, can
you solve the
them?
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